goboooo 2016/5/6

4 N

B co6oonon) ooooo --- HEE

oooo OABCO 300 O,A,Boooo 0(0,0,0), A(3,3,0),B(0,3, -3) 0ooooooooooO
oooooo

(1) oo CooooooooooooCOo xOOOOOOOO

(2) 20P,QUUDOOUOO0 OCOUD ABOOOOODOOPQUOOOOOOOD

oobooooooooood

(A8t
(HDoooooooDooooo COODO0OO00ODO00000000D00400000000000000000
DDDD(Z)DDDDDDDDDDDDDDDDDDDP—Q)DDDDDDDDDDDDDZDDDDDDDDDD
ooooogo

LS

(1) C(p,q, ) (p>0)000D00C=AC=BC=0A=41800O0O

p2+q2+72218 ...... @

(p—3)2—|—(q—3)2—|—7’2=18 ...... &)

PP+ (q—3)72+(r+3)P¢=18 - ®
@-0®uooo

(p=37+(q—=3P—p*—¢*=0
—6p+9—6¢+9=00000 p+qg=23- @
®-@ooo
Pr—(p—32+(Ur+32—r2=0
6p—9+6r+9=00000 p+7r=20- ®
@, ®o00
q=3—p, r=-p
Ooo @oooooo
PP+pP+(—p+3)P2=18 = 3p —6p—9=0
= p2—2p—3=0
= (-3 +D=0
p>0000p=300000000@,®oOO0O
(p, g, 1) =(3,0, =3)-----(0)
(2) PQ=0Q—O0P

gopoooOg s, to0ogoon

—8— ©ooooo00000oodmakoto



goooooo 2016/5/6

CTQZE&-FSE (0<s<)
OP=:0C (0<¢<1)
goooo
I;CSZCTA»—FSAK]_S)—L‘O_(’:
=(3,3,0)+s(—3,0, —3)—#(3, 0, —3)
=(3—3s—3t, 3, —3s+3t)
oooooo
PG| = /B—3s =302+ + (—3s + 302
=3/0—s—t)2+1+(—s+1)2
=3/2s2+ 22 — 25— 2 + 2
=3/2(s2—s)+ 22 —2t+ 2

z%@<—%f—é+%—m+2
=3 f2(s— L) -0+
=3 f2(s— 1) +2(- L) 1

DDDDSZIZ%DDDDPQDDDDD 3--eeee (o)

¢ Q

(H)ooOoOoO0oO0oo 400000 300000000000000010000000000000000000
CooooooooooCoOoDDOoOooooooooooooo C(p, g, ) 000000O0O0DODOO0O0OO
goodooodoodoooooooooboobooboboooooooooooooooooooooLooobLDb B
0 p,q,v030000000 30000000000000000000OO0OO0

(2) 0000000000000 00D000000000DODODDO0000000O00OO0oDDoO0ooooo
goboooboooboobooboooboooboobbooboobbooboobbooboobbooboob D
000000000000000000000000000000 s,{000000s,t0000000 PQUOD
00000000s,{000000 200000000000000002000000000000000000
0000000000000000000l 0000001l 000000000000000000sO0 200000
0000000000000000000 ¢t0000000000000000000¢t0000 20000000
000000000000000000000000PQUUDOODO0O0OOOOONOOOOO

—9— ©ooooo0000onoodmakoto



